Algebra I
7.5 Linear Inequalities
P407 #2-22
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Determine whether point P is a solution of the linear inequality.
Lys= —2x+ 1;P2,2) 2.x < 2;P(1,0) 3.y =3x — 2:P(0,0)
4.y >x - 1;P(0,1) 5.y=-2x+4P00) 6y>3x— 4P0,1)
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Choose the linear inequality that describes each graph.
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Graph each linear inequality.
My=iv—1 2.y=le-1 Boy< —4x—-1 1dy=4dx-1
15y < 5¢— 5§ 16.y=2x-3 17.y = —3x 18.y=—1x

Write each linear inequality in slope-intercept form. Then graph the inequality.
19.2x —3y=7 20.5x—3y=6 2L4x—6y=16 22. —4y — 6x > 8§
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